Date

Time

(
4. Round to the nearest tenth.

XQ 45.52 =

Aa

b. 60.18 =

e. 123.45 =

d. 38.27 =

e. 56.199 =

2. Multiply.

X a. /%10 =

b. 7% 60 =

¢. 70 %60 =

d. 8%10 =

e 8*%70=

. 80*x70=

3. The temperature at midnight was 25°F.
The wind chill temperature was 14°F.
How much warmer was the actual
temperature than the wind chill

p
4. Complete.

a. 354 = 300 + 50 +

ft.

d. A person who grew % ft over

the summer grew in.

temperature? k. 867 =800+ _______ +7
e. 975 = +70+5
d. 1,256 = 1,000 + + + 6
e. 6,704 = 6,000 + + 4
P
5. Complete. 6. Match.
a. Aperson74in.tallis ____ft in. a. Straight angle <90°
b. A person who runs a mile runs
P b. Obtuse angle >90°
ft.
e. Right angle 90°
¢. A person who runs 1,760 yd runs
d. Acute angle 180°




